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Q1 Arrange the words given below in a meaningful sequence. 1. Key 2. Door 3. Lock 4. Room 5. Switch on
T fou U wrsst &t U e S H SafRua ¥ | 1. Foil 2. GXATON 3. AIET 4. T 5. F&T 3
B
A 4,2,1,5,3/4,2,1,5,3
B
5,1,2,4,3/5,1,2,4,3
c 1,3,2,45/1,3,2,4,5
D 1,2,3,54/1,2,3,5,4
RESPONSE C - CORRECT Answer Key :
Q2
Miss Prachi is a B.Tech with 5 years' experience working in the automobile industry. She is looking
forward to an opportunity to work with PRQ, Bank. You need to take decision whether:
forr ot it 26 § o 3T SilchiaTsd e § 19 - 1 5 TId &1 3Hd § | 98 UeRag &6 &
1Y FTH I & TG SH] YH&T B2 ] &1 ST F0fg o &t siraaenar g & .
A
The candidate is to be referred to the managing director. fmﬁ v FR® & U US S
gl
B
The candidate is to be referred to the selection panel. / Judigar &1 99 U | 'qﬁlT\_TFHT%I
C
The candidate is to be selected. fmﬂ%ﬁﬁlﬂ%l




The candidate is to be rejected. / IFIIGAR P WIS B AT AT |

RESPONSE C - WRONG Answer Key : D
Q3
If P+ Q means P is the brother of Q; P x Q means P is the father of Q and P - Q means P is the sister of Q,
which of the following relations shows that | is the niece of K?
gRpsqEdefEe, BT HER Pra@T e fE e, aBTRdg iRe-aEr i e fd p, &t
e, Fedd e ordey a8 5 1, k ot weioh 82
A KxY+1-Z/KxY+1-2
B KeY+Z-1/K+Y+Z-1
c Z-IXY+K/Z-1xY+K
D K+YxI1-Z/K+Y¥xl-2
RESPONSE D - CORRECT Answer Key : D
Q4 If Meena and Reena also exchange their positions between themselves, then after the exchange,
Meena's position from the left will be
gfe = o ot smoe & st feufa ar sre-vem @ €, o foffga & arg, et € dr s
ERIEIE
A 7/7
B 6/6
C 5/5
D 8/8
RESPONSE Answer Key : B
Q5

M%RAATHI@TDS@IFN1IES36WU2HS*K9B Q. How many such numbers are there in the
above arrangement, each of which is immediately preceded by a consonant and immediately followed

by a vowel?

M%R4ATHI@7D5OIFNIES36WU2HS*K9BQ IURIG Haw(l H U fbait v &,
R 9 Ui & S1op U U ot 3R S URal U oo 8 U TR & g2




Two ,-’?ff
B Three ,f?ﬂ?
C ;
None / H’fﬁ;ﬂﬁ
D
One [ Uch
RESPONSE D - WRONG Answer Key : A
6
Q Directions - From the given alternatives select the word which cannot be formed using the letters of the
given word. TRANSPORT
fAewr - fau o fasreul & 3 Yeg &1 90+ ¢ o) U 7Y Weg & 31&R} &1 UGN &ias el a1l ol
Hehal 8| TRANSPORT
A
SPORT / SPORT
B
TRUST / TRUST
C
STRAP / STRAP
D
Maore than one of the above / More than one of the above
RESPONSE B - CORRECT Answer Key : B
Q7
CMM, EOD, GQQ, , KUU
CMM, EOOD, GQQ, , KUU
A
ISS /1SS
B
GSS / GSS
C
mr/mT
D
GRR / GRR
RESPONSE A - CORRECT

Answer Key : A




Q8 Sentence Completion: The teacher’s teaching style made the subject easy to understand.
a1 B Riees Rigor 2eft 3 v & wagT s =
A Boring / 3413
B Confusing / HIH®
C Engaging / BTG
D Distracting / &1 4T
RESPONSE C - CORRECT Answer Key : C
Q9 By considering the rule Client(, age( > 70 ? discount(, the element that act as placeholders for the values
A and B is called
T e (, 3 (> 70 2 Be() TR AR F3%, 98 7 Ot 7 A 3R 8% [0 WHgieer & ¥ H &rf
AT ¢, I F1 BT A 82
A i
constants / FRRT®
B function svmbols.r‘t_iﬁ'ql:l‘;l?ﬂﬁ
C predicates fﬁﬂ‘q
D variables / TR
RESPONSE D - CORRECT Answer Key : D
Q10 The act of choosing between two or more courses of action.
HNATE & &1 1 M UTsub ! & sie 98- & BT B |
A Self-awareness / AHTH SN R=ddl
B Decision rnaking,-’ﬁ'ﬂfq'@r:ﬁ
C Critical thinkfngz’ﬂ_ﬁ?a@fﬁ?
D Empathy / SHIFHfd
RESPONSE C - WRONG Answer Key : B




11
Q Which one set of letters when sequentially placed at the gaps in the given letter series shall complete
it 7aab_aa_ bbb _aaa_ bbba
3 e o g T SieRTe W Bt FU Y 3@ TH W &R &1 S 1T 38 RS2
aab _aa_bbb_aaa_bbba
A
abba / abba
B
baab / baab
C
aaab [ aaab
D abab / abab
RESPONSE B - CORRECT Answer Key : B
Q12
The following guestion, consist of two words each that have a certain relationship to each other,
followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the
original pair of words: Signal : Traffic
i uy o o wea 2fta & 50 @ Ul &1 U g5 ¥ Us Afid Yey 8, 59 916 Weal & R
3{&R IS & | &R Tl I ST 1 90 P Foreeh YaY eai ! gl wiet & 99 ¢: e : Sfibp
A
Lens : Light / T%: W&BTY
B
Operation : Doctor / SOE: ey
C
Dam : River / iY: 71
D
Door : House / Xl &Y
RESPONSE C - CORRECT Answer Key : C
Q13
If GATE is coded as QKDO, then PLAN will be coded as -
afe GATE B QKDO & ¥ H BIfSd a1 ST 8, o PLAN ) 58 UbR SifSd fopar e
A
ZVKX [ ZVKX
B
FVKX / FVKX
C
ZVXK [/ ZVXK




D

VFXK / VFXK
RESPONSE A - CORRECT Answer Key : A
Q14 According to the social identity theory, which one of our many social identities we adopt depends on:

G Tea Righd & 3UR, S gUR 3 Srafeie UgaHl &1 88 U €, TR MR Far e:

A the context / ﬂﬁ'l-f

B social influences / TTHTRST® UHTT

C situational factors / fRIfT § Ha&ftd oRe

D an individual’s mood / T Safad @ HIGRN

RESPONSE C - WRONG X Answer Key : A
1
Q15 If "A" means "plus", "B" means "divide", "C" means "multiply" and "D" means "minus", then 162 B 27 C

S5A8D357
e A o e T, "B T 3Rl AU, "C T S g U 3R "0 T 31 § vHTETE, ol 162 8
27 C5A8D35?

A 3/3

B 1/1

C 0/0

D 2/2

RESPONSE A - CORRECT Answer Key : A




Q16

Which group of shapes can be assembled to make the shape shown?

y 4

¢

fe@Iu 11U SR &1 914 & [ g el & fa g &1 g [0 g 82

A B e D
(a) A
(b) B
(cy C
(dy D
A
c/fc
B
b/b
C
d/d
D
a/a
RESPONSE C - WRONG Answer Key : A
Q17
In a certain code language, 'PENCIL’ is written as '1771771418" and 'ERASER' is written as '6204231024",
How will 'SHARPNER' be written in that language?
U ARy e U A, PENCIL BT 1771771418 ORT ST 3R 'ERASER' T '6204231024" foRaT STaT
8139 U9 H 'SHARPNER' 1 b forar wmgem?
A

201042221201226 / 201042221201226




201042221201227 / 201042221201227

C
201042221201223 / 201042221201223
D
201042221201224 / 201042221201224
RESPONSE D - WRONG Answer Key : A
18
Q To measure the relative change in purchasing a specific basket of goods and services between two
periods of a certain locality with a group of people with fixed incomes, which of the below can be used :
AT i a1l Tl 3 g & T Ue T e &1 <) Sraftr & off aegal iR Hansii &1 e
fafiry St wdie o wmier ufvad= & Ao & forg, FafafEa & @ feaer sudin fear o a@a g
A .
Cost of living index / SHfdd Yadid ANTd
B Both {Consumer price index) and (Cost of living index) ;Eﬂfﬁﬁﬂﬂhﬁﬂfﬂ W IR {Gﬂﬁﬁ'
H\HEF‘I'H; NIEG)
C o :
Consumer price index IW%W
D Pasche’s price index {‘-}IH%IH‘STT{FTW
RESPONSE A - WRONG Answer Key : B
Q19
This department........... in Chemistry.
g faym WA faqE |
A
none of these fﬁﬁﬁaﬁéﬂﬁ
B
specialist ,-’faﬂ'ﬂﬁl
C
specialize / faRus
D
specializes / AT
RESPONSE D - WRONG Answer Key : C




Q20
In a certain code, PLEADING is written as FMHCQMFB How is SHOULDER written in that code?
e A @e e, pPAGENCY BT FMHCQMEB oraT ST 8, 39 §e YT & SHOULDER @1 &4 ferar
STaT?
A
QDCKVPIT / QDCKVPIT
B
TIPVQDCK / TIPVQDCK
C
KCDQTIPY / KCDQTIPY
D
QDCKTIPV / QDCKTIPYV
RESPONSE D - CORRECT Answer Key : D
Q21
Statements : Some ants are parrots. All the parrots are apples. Conclusions : |. All the apples are parrots.
Il. Some ants are apples.
FYT. @ diedr ard & | I A F9 | e | wft e A & L. o difeat 99 8kt )
A Only (1) conclusion follows ;m (i) e @1 SER0T
B Either (1) or (1) follows / ATl (i) 4T {ii) T AFHIT
C
Neither (1) nor (11} follows / 7T al{i) 3R = €t (ii) ST STTRYT
D Only (I1) conclusion follows / &at (ii) e a7 SrERT
RESPONSE D - CORRECT Answer Key : D




Q22
Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures,

Problem Figures: Answer Figures:

zﬁﬁl N a gl 9 My

(A) (B) (C) (D) (E) (1 @ @ @ ©

(a) 1
(b) 2
(c) 3
(d) 4

TR B H H T AT & 997 1 ol Uid ST Hibfadl gR1 wifdd I8 y@ar &1 & Wi

o e RLACEE

A B © O E' @O @ & @ ©
(@) 1

(b) 2
(c) 3
(d) 4
A
afa
B cfc
C
b/b
D d/d
RESPONSE A - CORRECT Answer Key : A
Q23 Establishing a Power of Attorney occurs when a legal document is created that gives one individual the
authority to act for another. Which situation below is the best example of Establishing a Power of
Attorney?
TPIT B AfGT D RTHAT T STt & T TP B Gl ST oIl § ot U oo &) ga & ferg
H F 1 HRGR &1 81 e 1A ) fRUf sl 3t i wifid w3 &1 9ed a1 e g2
A Louise is selling her house and she hires a lawyer to review the contract. f@pﬂ Wﬂ?aﬂm%\?ﬁ?
ag Y B GHiE B & oY U aab el &l BT WR T 8|
B

Simone’s mother can no longer get to the bank to cash her checks and make deposits, so she has taken

legal steps to enable Simone to do these things for her. / T &1 AT 3(d 3144 I BT HY B 3R
I B & o0 o H 76T S Wabll ©, SHIOTT Iv 1A Bl 30 forg 51 il 1 Het # Wam
T & R ST HeA I E |




c At her daughter’s urging, Mrs.Lenox opens up a retirement account with the local bank. / AU & &
318 W, i d-ed R §a & Ty Ue Jar-igid @rd @iedi & |

D Jack’s father is elderly and Jack thinks he is no longer able to make decisions for himself. / o & fuar
o1l & SR O B T & 35 T8 3 oo for Fofa &9 F weny 7 &)

RESPONSE A - WRONG Answer Key : B
Q24 Directions : In each of the following questions a statement is given, followed by two conclusions. Give

answer : Statements : Company X has marketed the product. Go ahead; purchase it if price and quality
are your considerations. Conclusions : |. The product must be good in quality. II. The price of the product
must be reasonahle.
e Frafafed 7 @ vde uy o v Sy oo sar 8, 399 a5 &) e 8id § | SraTe &« faawor:
S Uay 2 IaTE 1 fAuurE faFar 81 ol ae); ufe Hew iR Turasr ods faeR § a1 gl wdd|
fArep. | IeaTg TUIETT A 331 BT TR i IIE B HiAd I - =Rul

A Only conclusion Il follows / Fad FHY i BT HTE HIAT &

B Both | and Il follow / | 31X ii GF1 &1 UTeH HY¥

C Only conclusion | follows / Fad [shY | GIﬂ'\“RUTWﬂTTg'

D Either | or Il follows / T <1 i AT i 3{ER01 BTl &

RESPONSE B - CORRECT Answer Key : B
Q25 | was facing East from where | turned to my left and walked 12 ft, then | turned towards right and

walked 6 ft, After that | walked 6 ft in South direction and at last | walked 6 ft in the West. Then, in
which direction am | standing from the original point?
Hgd ot 3R &1 T e o, et § # oo a7 3R geT ok 12 Wie Ten w, AR F aré iR g3
T 3R 6 WBiT T T, S SIS H SIa/0T =i 6 Wie e 1 3R SRR # ufdm & 6 Wie ga
a1 fw, & o e o ga fag S w@eT g2

A East / tj‘_dr

B South / &f&ul

C North / 3TR

D West / qfiyg

RESPONSE C - CORRECT Answer Key : C
Q26 Choose the correct Antonym for : Adversity

A

misfortune




prosperity
C calamity
D
casualty
RESPONSE B - CORRECT Answer Key : B
Q27 Choose the phrasal verb that means "To be ready for action"
A Bring about
B Stand by
C Stand up to
D Stand along
RESPONSE B - CORRECT Answer Key : B
Q28 There should be punishments for rule breakers .
A too
B many
C much
D severe
RESPONSE D - CORRECT Answer Key : D
Q29 Around one hundred across the world participated in the conference .
A delegates
B talents
C intelligent
D clever
RESPONSE A - CORRECT Answer Key : A




Q30 Spot the error in following sentence : None of them come to the inauguration of our new factory
A inauguration of
B
our new factory
C
come to the
D None of them
RESPONSE C - CORRECT Answer Key : C
Q31 Choose the One Word Substitution for : Arrangement of events or dates in the order in which they
happen
A
Geology
B Chronology
C Ecology
D Archaeology
RESPONSE B - CORRECT Answer Key : B
Q32
Spot the errorin following sentence : Everything has became very expensive these days
A Everything has became
B no error




very expensive

these days
RESPONSE A - CORRECT Answer Key : A
Q33 The mechanic repaired my bike .The other form of voice is-—---7
A My bike has been repaired by the mechanic.
B - . .
The bike is repaired by my mechanic.
C My bike was repaired by the mechanic.
D . i . :
The bike was being repaired by my mechanic.
RESPONSE C - CORRECT Answer Key : C
Q 34 Select the synonym for "ameliorate.”
A Improve
B Aggressive
C
Woaorsen
D Deteriorate
RESPONSE A - CORRECT Answer Key : A
Q35 Select the correctly spelt word
A contruction
B distruction
C

repetition




D compitition

RESPONSE B - WRONG Answer Key : C

Q36 The song of birds is one of the loveliest sounds in nature. Sometimes when we are out in the country
and we hear birds singing, it seems to us they are calling back and forth, that they are telling one
another something. The fact is that birds do communicate with one another, just as many other animals
do. Of course, at times the sounds birds make are more expressions of joy, just as we may make cries
of’Oh!" and ‘Ah!". But for the most part, the sounds that birds make are attempts at communication. A
mother hen makes sounds that warns her children of danger and causes them to crouch down
motionless. Then she gives another call which collects them together. When wild birds migrate at night,
they cry out. These cries may keep the birds together and help lost ones return to the flock. But the
language of birds is different from language as we use it. We use words to express ideas and these
words have to be learned. Birds don’t learn their language. It is an inborn instinct with them. In one
experiment, for example, chicks were kept-away, from cocks and hens so they would not hear the
sounds they made. Yet when they grew up they were able to make those sounds just like the chicks that
had grown up with cocks and hens! This does not mean that birds can’t learn how to sing. In fact some
birds can learn the songs of other birds. This is how the Mocking bird gets its name. Read carefully ,the

above passage and answer the following question: Birds need not learn their language as..........

A it is tough to learn
B it is developed with extra intelligence
c it is an inborn instinct with them
D it is only a quality with human
RESPONSE C - CORRECT Answer Key : C
Q37 Choose the One Word Substitution for : A short statement of a general truth or rule of conduct
A illustration
B instance
C

maxim




parable
RESPONSE B - WRONG Answer Key : C
Q 38 Choose the correct Antonym for : Adamant
A Stubborn
B Stupid
C Coherent
D
Flexible
RESPONSE D - CORRECT Answer Key : D
Q39 Choose the correct meaning of the idiom : In the same boat
A In a superior position
B In the same situation
C At the centre of attention
D In disgrace
RESPONSE B - CORRECT Answer Key : B
Q40 Choose the correct Synonym for Inclination
A Tendency
B Repulsion
C Aversion
D Indifference
RESPONSE A - CORRECT Answer Key : A
Q41 Select the correctly spelt word
A punctuation




Permmited
C plesent
D pungant
RESPONSE A - CORRECT Answer Key : A
Q42 Spot the error in following sentence : A new research study has shown that long before they took up a
strict vegetarian diet, the much loved pandas was a meat-eater
A was a meat-eater
B took up
c that long before
D
has shown
RESPONSE A - CORRECT Answer Key : A
Q43 In the sentence, "The team celebrated ----- victory with a parade," what pronoun should fill the blank?
A Them
B Their
C It
D Its
RESPONSE D - CORRECT Answer Key : D
Q 44 Select the correctly spelt word
A Devlop
B Discribe




C Diffrence
D Disappear
RESPONSE D - CORRECT Answer Key : D
Q45 What adjective describes someone who is quick to understand and respond to new ideas or situations?
A Malleable
B Perceptive
C Garrulous
D Obtuse
RESPONSE B - CORRECT Answer Key : B
Q 46 Choose the correct meaning of the idiom : completely at sea
A Sure
B In shock
C Confused
D Committed
RESPONSE C - CORRECT Answer Key : C
Q47 Choose the One Word Substitution for : One who pretends to be what he is not
A Director
B Acrobat
C Hypocrite




D Creator
RESPONSE C - CORRECT Answer Key : C
Q48 Choose the correct Synonym for Offend
A Annoy
B Assist .
C Aid
D Assuage
RESPONSE A - CORRECT Answer Key : A
Q49 Choose the correct meaning of the idiom : Pie in the sky
A Difficult to find
B Something very small
C An easy situation
D Something not possible
RESPONSE D - CORRECT Answer Key : D
Q50 The police used tear gas to the crowd .
A disperse
B attack
C disburse
D
collect
RESPONSE A - CORRECT Answer Key : A




Q 51 Look at this series: 8, 22, 8, 28, 8§, ... What number should come next?

U YA B $E: 8, 22, 8, 28, 8, ... AT B FT 7GR HFT AMLY?

A 29.0/29.0
B 9.0/9.0
c 32.0/32.0
D 34.0/34.0
RESPONSE D - CORRECT Answer Key : D
Q52 A person covers the different distances by train, bus, and car in the ratio of 4: 3: 2. The ratio of the fair is

1: 2: 4 per km. The total expenditure as a fair is Rs 720. Find the total expenditure as fair on the train.

U i3 ¢, 99 AR HR gR1 fafd gl &1 4: 3. 2 & 3T & 4 Hcll 8. Gd &1 34U 1: 2: 4 Ufd
it 81 ue A & ©U H Ha @ 720 B0 B | S W I EU W HA 07 71d o |

160/ 160
B
170/ 170
C 150/ 150
D
140/ 140
RESPONSE A - CORRECT Answer Key : A
Q53 Ten years ago, Ajay was 1/3 as old as Vijay. If Ajay is 18 years old now, how old is Vijay now ?
%9 I Ugd, 31o7 faer § 1/3 98711 Tfe 3o/ 31 18 7Y o1 8, Gl farsry o) oy a1 e &2
A

38 years / 38 HIc¢]




34 years / 34 HIc]
C 32 years / 32 HI
D
36 years / 36 HIdl
RESPONSE B - CORRECT Answer Key : B
Q 54 On a certain sum of money, the compound interest of Rs. 318 is earned in 2 years. If the rate of interest
is 12%, what is the principal amount?
e AT ¢RI R 318 ST F1 TafS waret 2 auf F ol frar sman @ gt e Bt @R a2 g @
T AR T 82
A Rs.1300 / 1300 TUT
B
Rs. 1250 / 1250 TUY
C
Rs. 1200 / 1200 ¥94
D Rs. 1150 / 1150 ¥TY
RESPONSE B - CORRECT Answer Key : B
Q55 A train, 500 metre long, running at a uniform speed, passes a station in 35 seconds. If the length of the
platform is 221 metre, the speed of the train in km/hris ?
500 HteR ddl Ueh XS] UHaar T | Ted §U TS WA F1 35 Ydbe H UR ! 7| afe wewrd
B waTg 22131 ®, A o B 1l fpell e A &2
A 72 and 1/35 / 72 3iX 1/35
B 24.76 [ 24.76
C 74.16 / 74.16




D 78.54 /78.54
RESPONSE C - CORRECT Answer Key : C
Q 56 The sum of 5x2, -7x%, 13x?, 11x* and -5x% is

5x3, -7x%, 13x%, 11x? 3R 5% & TN

A 6x? [ Bx?

B 22 2

c 17x* / 17%2

D 9/ 9

RESPONSE C - CORRECT Answer Key : C
Q57 Four years ago, the average age ot A and B was 20 years. It today average age ot A, B and C is 25 years,

what will be age of C after 7 years?
IR T UGS, A 3R B BT 3 3mg 20 99 | T 311 A, B AR c Pl AT MG 25 TR, A7 aH H
e ¢ P 39 JBIM?

A
38 years / 38 G

B 36 years / 36 ad

C 34 years / 34 6L

D 32 years /32 9

RESPONSE C - CORRECT Answer Key : C
Q58 Find the angle of elevation of the sun when the length of the shadow of a pole is equal to the height of

the pole.

E U WY & B DI dols WH $1 Ga1s b aeIsR gid! g, 9 YA H1 3T B0 F1d BIoTd |




45° [ 45°
B 30° / 30°
¢ 60° / 60°
D 90° / 90°
RESPONSE A - CORRECT Answer Key : A
Q59 A man rows downstream at 20 km/hr and rows upstream at 15 km/hr. At what speed he can row in still
water?
T A YR & S5 d 20 fbfl/der &1 71fa @ 71d garar 8 3R oR1 & ufaga 15 fodfl/da s nfa @
19 gardn 2. FRR urt F 8 fore 7fa & 19 wren whan 82
A -
17.5 km/hr / 17.5 farHi/gier
B F
18 km/hr / 18 farHi/eier
c 22 km/hr / 22 fepdilder
D .
20.5 km/hr / 20.5 fbdi/Eer
RESPONSE A - CORRECT Answer Key : A




Q60 If tan 6 + cot 8 = 2, then what is the value of tan'® 8 + cot'® 67

(a) 1
(b) 3
© 2

(d) None of the above

qTatana+cotm=23,iﬂlanmﬂa+cut100@'¢fﬂ‘-l[*]&qlﬂ?
(a) 1

(b) 3

(0 2

(@ A Al A e

A d/d
B a/a
C b/b
D c/c

RESPONSE B - WRONG a N7 Answer Key : D




Q61

In a simultaneous throw of two dice, what is the probability of getting a total of 7?7

1

6
fal

1
by 4

2
icl 3

3
(@ 4

&1 Ul @1 U WY bl UR Gl 7 A1 1 Wikl o1 82

1
6
(a)
1
(b} 4
2
(c) 3
3
4
(d)
A b/b
B afa
c cle
D d/d
RESPONSE D-WRONG Answer Key : B
Q62 A shopkeeper sold an article at 20% discount and earned a profit of 4%. By what percent the marked

price of the article more than the cost price?

TP GPIGR U T B 20% TE IR ol § IR 4% T ey ol wwar 8. sifva iy feam vioma 9
TG 1 B AT e Y A 2

A 0.45/0.45




B 0.5/0.5
C
0.4/04
D 03/03
RESPONSE C - WRONG Answer Key : D
Q63 Salary of a person is increased by 20%, then it is decreased by 20%. Change in his salary is ?
ot aafde & AT o 20% 1 3 S €, P 3 209 H0 R a1 o1a 81 39S a1 Hufad— g2
A 4% increased / 4% §G1
B 4% decreased / 4% W@W
c neither decrease nor increase Ha”laﬂﬁaﬁqqﬁq@
D 8% decreased / 8% WE-#TT\'JIT
RESPONSE B - CORRECT Answer Key : B
Q64 What will be the investment in order to obtain an income of 550 from 10% stock at Rs. 967
96 U H 10% €I ¥ 550 P S8 YT P & ferg e &=ar ghme
A
5280.0 /5280
B 7280.0 / 7280
C 6280.0 / 6280
D 8280.0/ 8280
RESPONSE A - CORRECT Answer Key : A




Q 65
The population of a village decreases at the rate of 20% per annum. If its population 2 years ago was
10,000, the present population is ?
T T B SMTaTE! i af 20% @ &3 @ UE W ¢ | afg 3! Sardt 2 Wie ugd 10,000 4, G aoEE
3ad 8
A 4600 / 4600
B 7600 / 7600
C 6400 / 6400
D 6000 / 6000
RESPONSE C - CORRECT Answer Key : C
Q 66 Atank is 25 m long, 12 m wide and 6 m deep. The cost of plastering its walls and bottom at 75 paise per
sq. m, is:
T &b 25 Hiex ofal, 12 TieR A1eT 3R 6 e Texl & | g9 SIaR| 3R dell 1R 75 48 ufa o7 wiex &
TR Y W B B AN &
A
Rs. 568 /¥ 1568
B Rs. 458 /¥ 458
c Rs. 558 /¥ 558
D Rs. 456 / 51 456
RESPONSE A - WRONG Answer Key : C
Q67 What angle is formed between the minute hand and seconds’ hand of the clock if they are 25 minutes
apart?
% u<t F e 31 G2 ofR s B T8 25 e &1 g R 8 Ot IS &1 fve1 S0 g1 82




150° /150 °
B
110°/110°
c 120°/120°
D 135°/135°
RESPONSE A - CORRECT Answer Key : A
Q 68 What is the sum of all odd numbers up to 240?
240 A it fawm Tremaft & g &2
A 11400 / 11400
B
12400/ 12400
C
14400 / 14400
D 13400 / 13400
RESPONSE D - WRONG & Answer Key : C
Q69 The greatest number of four digits which when divided by 12, 16 and 24 leave remainders 2, 6 and 14
respectively is ?
IR P! P! I8 TaW do! G&T ¢ O 12, 16 3R 24 T fauforg F37 W HIR: 2, 6 3 14 AT FIAT B2
A 9807 / 9807
B 9970 / 9970
C

9974 /9974




9998/ 9998
RESPONSE D - WRONG Answer Key : C
Q 70 A man can do a piece of work in 5 days, but with the help of his son, he can do it in 3 days. In what time
can the son do it alone ?
TF N T S B! 5 ol H F= a1 2, A o 2 Pl mag ¥, T8 39 3 RA T s awar 21
T3 3hal 34 b gma § % Iobar &2
A 7 days/7 &=
B 7 and 1/2 days / 9T¢ §Id &7
C 8 days_-"Bﬁ_*{
D 6 and 1,-’2days,-’¥|'|’%%ﬁq
RESPONSE B - CORRECT Answer Key : B
Q71

Choose the correct water-image of the Figure (X} from amongst the four alternatives 1, 2, 3 and 4 given.

Question Image

X
Water Images

1 2 3 4

{a) 1
by 2
el 3
id) 4

e v R Rided! 1.2, 3 94 7 4 R ) o a9l sa-efa =

Question.lmage

X
Water Images

1 2 3 4

(a) 1
(b) 2
(e} 3
(d} 4




A b/b

B ala
C d/d
D
cfc
RESPONSE C - WRONG Answer Key : D
Q72 Statement: Researchers are feeling agitated as libraries are not equipped to provide the right

information to the right users at the right time in the required format. Even the users are riot aware
about the various services available for them. Courses of Action: L.All the information available to the
libraries should be computerised to provide faster services to the users. |l.Library staff should be trained

in computer operations .

FU: Qe & FEYY R I8 & it JadbTery SHavdds TRy H T8] 970 TR el SuaiTahdisf
B e TGN T B & o0 Gafwid el ¢ | 98T d@ [ SuarTadi it 37 for Suas fafim
Jarefl & IR T ANES ¢ | HRIATET: | IUTRTEH ! Bl did JaTd UgH S & o gaasre) #
Buas §f STHER @ S o S AifRu| 1| rssst Wit & dogel Sara- § wiifda
fesan s =g e

A Either | o Il follows / TT T 1 T 11 3-TER0I PRl &
B Onlyllfcllowsfaﬁﬁllﬁwm%

C Only I follows / HET | TR0 BT &

D

Both Iand Il follaw/isﬁ?ilﬁﬁwﬁ

RESPONSE D - CORRECT Answer Key : D




Q73 Statement: Should all refugees, who make unauthorized entry into a country, be forced to go back to
their homeland? Arguments: .Yes. They make their colonies and occupy a lot of land. Il.No. They leave
their homes because of hunger or some terror and on human grounds, should not be forced to go back.
o 71 Tt TR, S et 31 A ofiigd HaR B §, 3% ST Argufi H ar0e o & o
TR farar S Afg e ah: 1. 81 & AU Fici-al -Td € SR 9gd TR of i+ R deo dR Ad gl 1.
11 3 2 1 [l ST & BRUT 34U O3 &1 SIS od & SR HHA YR |, 3¢ 9199 9 & fag
TofeR ol faal o1 d1fg |

A
Either | or Il is strong / T <1 1 TT 1| TSTae §
B
Only argument | is strong / &l do H%’G@EF%
c Both | and Il are strong / | IR 11 ﬂﬁ@ﬁ%
D Only argument Il is strong[ﬂﬁﬁﬂ*llqﬁl@%
RESPONSE D - CORRECT Answer Key : D

Q74 A and B stared a boutigue investing amounts of Rs. 35000 and Rs. 56000 respectively. If A's share in the
profit earned by them need is Rs. 45000, then what is the total profit earned ?

A 3R B A HH: 35000 YT 3R 56000 FUL B U §ia I AR &1 Y fan afe 39& g
3t oy & A 1 & 45000 TR B, ot aiffa s av g2

A
Rs. 117000 /%1 117000

B
Rs. 81000 / ¥ | 81000

C
Rs. 72000 / %1 72000

D
Rs. 127000 /¥ 127000

RESPONSE B - WRONG Answer Key : A




Q75 Including stoppages the speed of a bus is 70 km/hr and excluding stoppages its speed is 75 km/hr. For
how long the bus stops in an hour?
SEdl ) e U 99 &1 71 70 faheh/Her § 3R 38v1d &I SigH 39! Tfa 75 fpil/derg. a9
% b B fral & dd el g2
A
3 minutes / 3 e
B 7 minutes / 7 e
C 4 minutes / 4 fire
D 6 minutes / 6 e
RESPONSE D - WRONG Answer Key : C
Q76 Who is the first space tourist
ugar Jfdfe wiesw HH g2
A
Dennis Tito / &9 feel
B
MNone of these fﬁﬁ'ﬁﬁﬁ oft 98t
c Richard Garriot / TS s
D Jake Garn ;’%"Tﬁf
RESPONSE C - WRONG SN Answer Key : A
Q77 Sun’s rays can make right angle only up to 23(1/2) and South latitudes because
T 1 01 e 23(1/2) 3R R0l Sifi<r T & FHEHIOT &1 UTR & e
A
Rotation / ddhi
B :
Revolution / Hifa




Earth is inclined at an angle of 66(1/2) on its axis / qta“’ra{crfr HHWGE{UZ}%@WWW@%

D
Shape of Earth / G2dl &1 3R
RESPONSE C - CORRECT Answer Key : C
Q78
Water is a highly effective coolant for a car engine because
BR P $5 & o Ul U srafis vyl Sfiqae 8, wife
A Water has very high specific heat capacity / eI CiRe ggd 3ftre fafy Fum emar el ©
B Water boils at a comparatively high temperature jﬂl’rﬁw U Y I IUAH R ITAd ¢
c Evaporation of water produces lot of cooling / Uﬁﬁﬁawagamﬁam%
D Water is good conductor of heat / OTt T &7 331 HEw &
RESPONSE B - WRONG &Y Answer Key : A
Q79 21st June 2017 was celebrated as the IDY.
21572017 B ___ SfRIPR 11 g & 0 8 H=1 11 o7 |
A first / Ul
B
second / @G8RI
¢ third / T
D None of these / $-H | ig H1 &l
RESPONSE B - WRONG Answer Key : C
Q80 The Cabinet Committee on Economic Affairs (CCEA) has approved expansion of which Yojana for a pan
India coverage from 2017-18 to 2019-20?
31fifep mrael Ur SBfeme Ui (ccea) A 2017-18 A 2019-20 G U Efear Have & forw fpg Ao &
R PO e
A

Pradhan Mantri Gram Sadak Bijli Yojana fmmm%mﬁﬁm




Beti Bachao Beti Padhao Yojana /aﬁwﬂhaﬁwﬂhm

c Beti Bachao Yojana iaﬁﬁaﬁm
D Pradhan Mantri Bima Yojana fumﬁaﬂﬁm@m
RESPONSE D - WRONG Answer Key : B
Q81 Sri Aurobindo Ghosh was born in the year :
st aRfSS) oy &1 o for af & gamume
A 1892/ 1892
B
1982 /1982
c 1872 /1872
D 1884/ 1884
RESPONSE A - WRONG Answer Key : C
Q82 Which one of the below is not a novel written by R.K. Narayan
T H Y PH-I1 IR, . TR0 GRI o 1 Su9 78 8,
A Swami and friends;’mﬁgﬁr{iﬂ
B The Bachelor of arts /& SETR 3i1H AT
c The English teacherfﬁé'ﬁ?ﬁf'c’!il?
D =
Such a long journey / T ] AT
RESPONSE B - WRONG Answer Key : D
Q83

Dollu Kunitha is a folk dance from

o shawae @t




A Tamil Nadu fﬂﬁm
B Kerala ;W
C
Karnataka ,-’er_d?
D Bihar / faER
RESPONSE D - WRONG Answer Key : C
Q84 Who was the 1st recipient of Rajiv Gandhi Khel Ratna Award?
rofta ith W I RRPR & UBQ Wil $ i 32
A Aparna Ghosh / 30Ul €Ty
B Yogeshwar Dutt / qR &
C .
Viswanathan Anand / 3Ty 3
D
Sachin Tendulkar / Tfe ?Itgam
RESPONSE C - CORRECT Answer Key : C
Q85 Who is the Flying Sikh of India?
IR &1 TS R i 87
A b 1
Ajit Pal Singh / 3iofid UTa RigaRiT
B :
Milkha singh / fieaT fig
C
Mohinder Singh / Hifga f&ig
D Joginder Singh /a' fifae ﬁlﬁ
RESPONSE B - CORRECT

Answer Key : B




Q86 What Syed Mohammed Arif famous for?
Tye Uigwe onfiw v & fore uftrg @7
A
As an Indian cricket coach / T& HRd 1 fohdre g & wu o
B As an Indian badminton coach / T& YR §sfife o & wu o
c As an Indian football coach / U HIRAT Peald #1a & &u §
D .
As an Indian tennis coach /WW%@?W%WI}
RESPONSE C - WRONG ‘ ‘ Answer Key : B
Q87 Who recently M.S. Swaminathan Award in the year 20237
T 2023 B, TH.TH. WHATRA REGR T S 19 T gU2
A o
Dr William D Dar / 31 faferdd § &R
B T
Dr John Dixon ,r’STG!'IT‘Iﬁ':EHW
C
Prof Rattan Lal / W1t T @l
D
Dr PV Satyanarayana / BT, &t . gIARE
RESPONSE C - WRONG an Answer Key : D
Q 88
Public Administration is the study of
T U T e 82
A
Politico-administrative dynamics of the state / Y1ed EARERIIGE A PURIEE IR
B 0
Control of trade and commerce / T4 3R gforey g




Maintenance of Law and Order / ST 3R TR H1 @@

D
Public Policy implementation {m:ﬁﬁlm
RESPONSE D - CORRECT Answer Key : D
Q89 At point of satiety, marginal utility is:
qfter & fig R, i Sudifira g
A Zero / YA
B
Positive / HhRIHS
C .
Negative / TP RIHD
D Maximum / Sfd&dd
RESPONSE A - CORRECT Answer Key : A
Q90 , , - . .
Which one is a India's permanent research station in Antarctica
SfeTdiedT i YRd B W e R S T2
A Agni / 3l
B Maitri ,i'-a'aﬁ
C None ofthesefﬁqﬁﬁmﬂ-ﬁ:ﬁ&
D ;
Ganga / T
RESPONSE B - CORRECT Answer Key : B
Qo1 National Rural Health mission was launched in:
TP AT TR A R e
A April 2005 / 3Wd 2005




August 2005 / 3T 2005

C October 2005 / 3HdgaT 2005
D
July 2005/ TS 2005
RESPONSE D - WRONG Answer Key : A
Q92 Which state has signed CSIR and DRDO as knowledge partners for the proposed Bulk Drugs Park?
g =g 7 TRAIfad Sob $79 UTdh & forg WuwemSam sk SR &y I vifieR & =u
gmafd frar g2
A
Tamil Nadu / TS
B
Odisha / IS
C
Assam [ 3HH
D
Uttar Pradesh / 3T e
RESPONSE A - WRONG Answer Key : D
Q93 Pahal scheme is related with?
g oI by e 82
A
Women Education /ﬂ%’(‘ﬂ faram
B Direct Transfer of LPG Subsidy f@ﬂﬁﬁﬂ@%ﬁﬁﬂ?ﬂ&fm
C
Agriculture Loan / ST 0T
D
Child Education / STd fRrem
RESPONSE B - CORRECT Answer Key : B




Q94 Which charter is an attempt to bring accountability and transparency in EPFO functioning?
EPFO & BHTHETS H SraTag el 3R TR RidT o & R &1 &1 ardk ueh v 82
A None ofthesefﬁ":fﬁlalﬁéﬂ-ﬂ?éﬁc
B Pension Fund Charter 2017 / U g T1¢R 2017
C EPFO Charter 2017 / EPFO | é? 2017
D Citizens Charter 2017 / FTTTIN@ TTCR 2017
RESPONSE C - WRONG Answer Key : D
Q95
Labour Intensive Technique would get chosen in a—
$H T dbriich P! AT ATET-
A Developed Economy / fa i srfeaaen
B Developing Economy / fa@Terfia srdeqawy
C
Labour Surplus Economy / % STESIY arfaqe
D Capital Surplus Economy / ‘iGﬁ Sferary srfeqawn
RESPONSE A - WRONG Answer Key : C
Q96 Which Indian Prime Minister’s 127th birth anniversary was celebrated in Nov 20167
de 2016 B forg YRR vee w2t @1 127 S weE M
A Narasimha Rao/ a@%ma
B
Lal Bahadur Shastri ,’WWW
C ” :
Morarji Desai fﬁ'ﬂﬁﬁﬁ' am§
D
Jawaharlal Nehru ,’Wfﬂﬂﬁfﬁa
RESPONSE B - WRONG

Answer Key : D




Q97 Who headed the first scientific group to leave for Antarctica in 19827

1982 § 3ferdh et & fory 3am1 819 ara uget deifie THE &1 g fora fpar

A
Dr. H.K. Gupta / BI. Ta.3. Tl
B
Dr. R. Sengupta /Bl 3R, m
c <
Dr. V.K. Raina / ST, &1.&. 1
D
Dr. 5.Z. Kasim / Sl. W,ﬁt GalReel
RESPONSE B - WRONG Answer Key : D
Qo8 Tadoba national park known for sheltering tiger, panther and bear is located in
T, TG 3R WIS 319 3 & forg g st gy Se el Ry €2
A Assam / 3HH
B Chandrapur (Maharashtra) /W{H—E'R'IH]
c Karnataka KWJI-EEF

D Tamil Nadu / AHTHTg

RESPONSE B - CORRECT Answer Key : B
Q99 Who composed ‘Jana Gana Mana’?

"7 70T T ) T e @l

A Sarojini Naidu ;"ﬂﬂfa‘lﬂ Iag

Bankim Chandra Chatterjee /aﬁﬂ?aﬂﬂfﬁﬁ-




C Aurobindo Ghosh / arfeer gy
D Rabindra Nath Tagore f?iﬁ—:ﬁ:ﬂﬂ TR
RESPONSE B - WRONG Answer Key : D
Q 100 : c ' ;
Leela Samson is associated to which classical dance style?
e dueH frg IRet T IR A9 &2
A
Kathakali / YehTell
B
Bharatanatyam / WE’E‘T
C Odissi,’ﬁi St
D N
Kuchipudi ;’ﬂ"ﬁlﬂ:ﬁﬂw
RESPONSE B - CORRECT

Answer Key : B






